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o) ummer Term: Workout 5

1. Work out the answers to these calculations

264245 = 84858 =

1286 + 60 = 647240 =

2. Use two of these numbers to make the multiplication correct.
@ 0 o0 7 @ &

720 x

3. Write a subtraction you could do to check the answer
to 1651 + 2247 = 3898,

4. Round each of these numbers to the nearest 100,
235 684
Now round each of these numbers to the nearest 1000.

5269 8712

5. Vincenzo has 90 sheep to the nearest 10.
Circle the numbers of sheep he could have. “
84 86 95 92 85

Larry keeps llamas in the field shown on the diagram below.

Work out the perimeter of the field. ]
18 m

3 H

“n am ™
Kwame is buging ingredients for his dinner. e
He buys three sausages, two potatoes || Casbages 75p et
and one cabbage Fo ik
How much docs he pay in total? Chliages  ovp snen

Grace want kayaking at the beach
She paid £5 to hire a life vest, £2 per hour to hire a paddle
and £10 per hour to hire the kayak. She paid £65 in total.
How many hours did she go kayaking for?

hours

Score:





